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Chemistry 11 Name: KQKQ
Stoichiometry Practice Test Block:

& 1. A reaction between magnesium and chlorine takes place. Which of the
following is the correct unbalanced reaction?

A. Mg+ Cl > MgCls
‘ Mg + Cl2 = MgCl2
. Mgz + Cl2 > MgCls

D. Mg+ Clz > Mgz(Cl

! 5 2. Complete the following reaction:

Na + Sg >
A. NaS
(B.) Na:S
C. Na$S:
D. NaS3

E D 3. When the following equation is balanced, what will the coefficient be for

fluorine?
vorne ﬁ_ AlCI; + Z_Fz > &_AIFs+ S—CIZ

= (D~
Ul W N

L

4. When the following equation is balanced, what will the coefficient be for

chlorine?
9" CHas + Cl. > 2‘ CHsCl + H:

oo =)

B W N R

C 5. The following unbalanced chemical equation is given.
2 C2He+ {02 4COz + 6 H20
How many moles of ethane, CzHs, reacts with 14 moles of oxygen?
A1

B. 2
© ¢
D. 8

6. Explain your answer to the question above:

7 mel CzH¢
Tl g,

,4M0\°z X s Ll Mol C;H(,

D 7. The following chemical equation is given.
2 Ag+ + 52087 > Ag2520s )
What is the ionic charge on the S20s ion?

2-
A, 5.0,

IS 8. A reaction between C3HsO2 and oxygen would produce:

A. C3HeO + H20 . |
Oy + HaO Combustion .
. Asaltand water

D. Impossible to predict kn(}acw‘»f\

Ac(d} Base
( : 9. Hydrochloric acid and sodium hydgc:_)‘dde react to produce

A. An explosion

E. €Oz + H20 Nevtalization !
A salt and water
. Impossible to predict



B 10. The equation to calculate percent purity is:

A Impure mass
Pure mass

Pure mass
Impure mass
C Excess Yield
" Limiting Yield
Limiting Yield
Excess Yield

,(s 11. A substance that reacts with another substance and is completely
reacted and consumed is called the:
A. A theoretical reactant
A limiting reactant
. An excess reactant
D. A standard reactant

A 12. Consider the following reaction:
2H2+ 02> 2H20
2.0 mol of Hz reacts with 2.0 mol of O2. What is the limiting reactant?

Hz
B. 02
C. H:20

D. The limiting reactant does not exist

13. Show your work for the question above:
7.0m0 He M = Z.O M°lHL° & |?mth“na
2 mol He
2 Mo\ Heo
S ——
| saol Do

A 14. After completing and balancing the reaction below, the mole ratio of
potassium to oxygen in the chemical equation below is:

Ll K+029Z K;O
@éﬁol

. 4to2
C. 2to3
D. 1to1l

72.0m0\ 0, X 4.0 mo\ Heo

c 15. A sample of cobalt (II) chloride has"):}.(-)% purity. If the total sample
weighs 15604g, what is the mass of pure cobalt (II) chloride?

A. 16600g

B. 15604g Quov = x (0o°/,
k6562 |4700q 56044

D. 94.0g

x> 0.4 x I56oyg =466

Q 16. A sample of sodium metal has 0.200% purity. If only 13.5g o

sample reacts, what is the total mass of the sample? T rore.
A. 0.027g (2.5
B. 0.200g . = * -4
C. 13.5g 0.200°/. ’x:J‘ * '
. 6750g
13.5
= 221
0.00200

C 17. A reaction is expected to produce 94.0g of a product. However, only
17.0g is recovered at the end of the experiment. What was the percent yield?
A. 5.50%

B. 17.0%
+8:0% g7/,
D. 94.0%

18. Briefly explain your answer to the question above:

. - tual
o yield = B&wal
/ g Hreoretical * (o077

17.04
QQOJ

x (bo/.

A 19. A reaction is known to only produce 90.0% yield. If the reaction is
preed to produce 90.0g, how much product will you actually produce?

81.0g )
B. 90.0g 9.0 [ = 5 X (0o/,
C. 99.9g 0.04

D. 100.g

x : 0.900 = %.03



1. Write a balanced equation representing the following reactions. You only need to complete three equations.

Indicate which equation you would like marked by a check mark in the box next to the equation. M

[] Lead(IV) nitride reacts with lithium sulphide.

Py« b LS =~ 3PS, o« {LiN

[] Synthesis of potassium permanganate from its elements

K +« Ma + L0, - KMA0

[0  Sodium sulphate and copper(Il) phosphate were produced in this reaction.

2 Maspoq + 3 C\LSOq ] 5 Mazsoq + CMgCPOL()Z

[0 Ammonium nitride and lead(IlI) chlorate react together.

(NN« Ph(Cy), -3 NHeClo, «  PbN

[] TIodine trifluoride, oxygen gas hydrofluoric acid (HF) react together at STP to form iodine tetrafluoride and
water.

U 1F, + 0, <Y HF — 4 IF. +7Heo



2. The equation for the reaction of aluminum metal with fluorine gas is:

Al + F2 > AlF3

a. Whatis the balanced chemical equation?
7 Al r 3R = 2AF
b. If102.0 L of F; is reacted with excess aluminum metal at STP, how much faass of the produclis made?

Lo | Z o\ aE g
39%
102 . 0L g > £ % S x -2 %AMIFy , Y
Fz 22. 4L 2 ms) ] mo) 3 -ﬁij__&

3. Consider the following balanced reaction:

3 FeCl2 + KNO3 + 4 HCl = 3 FeCl3 + NO + 2 H20 + KClI

If 56.8g of FeCl, reacted with 14.9g of KNO3 and 40.0g of HC], find throduced

| molFec Z ™o\ He0 lg-ozjﬂ o
6.& x ———— % = x o S;{
5 A Fecl, |2L,‘753 Fecl, 2 Mo\ o Cly | »ol pye 3\47_0
Veolyno, 2
nolHe0 , 18.02
4.9 yaog * dHeo | 3
S s |0|'“3\¢Nbs | “"°\m03 ] velp, o RN

| 7ol Hey 2 ool He & 02
L\Bo el X X ® X — 9= JHzo
an ZB.“"B\‘)HM H wol yet ") molgye ol Hy0 = 1 Y Hzo

4. 6.57 goflead (II) acetate are reacted with 24.8 mL of 1.50 M nitrous acid (HNO;) according to the reaction:

Pb(CH3C00)2 + 2 HNO? - Pb(NO2)2 + 2 CH3COOH

a) What mass ©f lead (II) nitrit§ will be formed?

|M°\r\.(cl-\scoo\,_ | mol PLCNOL) 2 x 299 .'2_2\3 PLCND,) é%
= : P"(“oz\l

57
b 31’"(‘“3‘”“\‘ 225.3% jr\-(ﬂ"-sm\zx | o \pL (CHgco0), | eol PL(NDS),

.SOeol
0,028 o X N0 | Lol Gibnds 299,224 pLuonde

b) What mass or volume of tt will be left over?

|.S0mel yn .
502481 yuo, X 0, | volpb (crgcon), X Mﬂ‘

| L HNOo Z Mo\ HNO, | enol f\o(Not)z T 5%7\3?5 (\joz\z

x =
I L pnoe 2 o) pno, ) celpu (M con)s 6053 Pl (CHyCo0),



5. Consider the reaction: L] Na + 0;~> 2 NaxO

a) Sodium has a purity of 78.2%. How many grams of twill be formed from a 56.0 g sample of
sodium? h'el =X
7.2 = x 100, —> 0.782 %560

SLO 53 = L‘S'%SPU"{M*
Y2 8o x L INa o Zrolhaze b0 TE‘?
B Y P TR I owray (=X US PN

\

b) Ifthe reaction has a 64.7% yield, Wt would be needed to producer00:0:gof the
product? Assume each of the reactants are pure.

(OL\7X 2% x |90,/ — X= ‘%Sjﬂa@ (‘\'hard\'eq)

‘EB Ne,0 X M y L, o lue 2249 -
j ’ bl AB o Nasd mxmi— :\]\

-
| tolo, 32.00
————x 40.0

ZM°"~)*L° ‘ M ‘07. ’ 302

6. In an experiment, 3.44 g of 90.0% pure H; and 6.25 g of 80.0% pure O are placed in a reaction vessel. The
introduction of a spark causes a violent explosion that generates water.

\SSI\]A

a) Whatis the balanced reaction?

7 H, + 0. - 7 Heo

b) What is the limiting reactant?

Lo : X = poreH, = 310
H, 0077 g el pore #e = 3.108

| mol
Z_(Q,s x MO He X Z molreo z ’.SEMOIHLO
20T Wy, 7 molpe

. - %L % . X = yrt OL B 6.00
$0.0 /. (25 N — P J

0;° q

| mols, Z moly,0 02 s e

37,.00301"‘ Fwoly = O,ZIZMDleo ||‘Miﬁ/t3 reackant

5.006’(




Reaction: Is the reaction endothermic or exothermic?
1. K+D+heat=>G
endothemi ¢
2. U>C AH=-60K] .
810‘(\4 erml
3. F+A>T+1 AH= 60K]
endo Herani C
4, A+C>D+45k]
Cyothermic
e endotherm: ¢

| Potential energy

15 kJ




